Math 61 Spring 2006 Name:

QUIZ #1 @ 30 points Sowrrnoms

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1) Write the converse, inverse, and contrapositive of the following statement: (3 points)
If 1 do not practice, then I do not improve. (P — Q)

Converse (Q —> P) /% D clon't /'wv/)rovp Ayen j Hon't ’ﬂf'ﬂc % e

Inverse(~ P >~ Q) /_/ 9, /oraaﬁ@ Hhen D /m/)mn’

Contrapositive(~ Q —~ P) D,Z D/M/WOM/ /fr{« J /Szaczéc‘f

2) Form a truth table and determine all possible truth values for ,(P % Q) P (4 points)
Is the given statement a tautology?

r | R PV R l (f\) Q) )=
T T T T Lot a Faufologte
T|F 7 T
T |7 7 F
F FroF T
3) Complete the following to make valid arguments: (3 points)
a)  Premisel: P—(Q b)  Premisel: P —Q
Premise 2: ~Q Premise 2: >R
Conclusion: P Conclusion: P — R

4) Classify the following names as names of points, lines, segments, distances, rays, or angles.

Make a drawing for each geometric figure. (4 points)
A
- , 3
a) AB /// “e \“ Check one: geometric figure [\Zr real number [
» B
. —_—
b) AB (4 (‘j’]r Check one: geometric figure |{ real number ]
0-\'3
c) 4B & Qwme ”7 Check one: geometric figure lj/ real number [J
d) 4B 47 J Toruce Check one: geometric figure 0 real number m/

e

e) LABC 4 ‘E}}&-f £—0c Check one: geometric figure m/ real number [




5 (6 points)
For the given figure, complete the following:

a) All pairs of complementary angles:

<land <2
D <Y 4/70/ <2
< > b) All pairs of supplementary angles:
A
< Yand <5 <2and < CVE
<5and </ <9 and < OVE

<) and <« BVO <2 gnd < ¢ VA4

d) All pairs of vertical angles:
¢) One example of adjacent angles: =4 and </

<lond <2 v <¥and<S < BVY and < EV4
< Yaond 3 W2 <3 and <2

e) All pairs of opposite rays: f) All right angles:
\73 and 74 <2 < CV4
VE and vE g

g) All collinear points along with the 11n>e h) All straight angles

they belongto: », ¥, 8 ., 04) L oVA s L EVS

&, V/B Lo X % ELR

6) State the hypothesis and the conclusion for the following statement. Make a drawing to illustrate the

statement. (5 points)
If a line segment is bisected, then each of the equal 4
segments has half the length of the original segment.

Hypothesis: L7 ﬂ-'z =M — A Lene SPS‘“"”% & 3
/= m/“//\‘)/'ﬂf %/ ’9’3 /\g 6/3~ecf(‘0, 1F M - »
Conclusion: {,}M P 7 s Py OJ u't/
wowien 7l has Aa/vf o b,
e Lt of Ao OnSinsl 5%
7) | (5 points)

If m£1=40", find m£2, m£3, and m/4 .

</ X <3 o5 rorkcol anss

DU =

m</-/(¢/<3 = ¢o° /

w<!l 4+l = /¥o° | 4S ﬁﬁ»&meav/vj Mg&_s

, ol
4° /.um<m2___~_“_/<f’0’ m(é’- we< 2 /4&“ M’ﬁag Pl

furc2 = 1907/ |= w<y=Jyo"/




Extra Credit @ 5 points

State the hypothesis and the conclusion for the following statement. Make a drawing to illustrate the
statement.

The bisectors of two adjacent supplementary angles form a right angle.

Hypothesis: /< A8 C 4 < CB&-?W““WZV]

E;',': Llﬁkch < B¢
Eé 5/4«/’5 < AEC

Conclusion: — -9
oncuswnggé_l 27 (w<18€ 9o

A

27 LS < JBC  => U_f/ w< 2 ( g
32 biwih < asc => |u<csdzw<?| G

CABC < CB Y duprliscenta .—>>fa4</+w< +WC6 +w<4/ = /15

( aboss v AR Ay AdA b b > Pw/my F
we bl Fotz (D ovd @ 107 &
yhiuc? +u<druc3 = /807
A ML A2y = Ho”

Proof (formal or jfformal); Jo
( 0 ’__,,_»/)/

=>

wd 4 w3 = 707
m<?£(=—-eoo

rge 1l B

e



